$$f'(x) = \frac{x^{2} - 5x + 4}{x} | x \neq 0$$

$$f'(x) = \frac{(2x - 5)x - (x^{2} - 5x + 4)}{x^{2}} \stackrel{!}{=} \frac{x^{2} - 4}{x^{2}} \stackrel{\text{c.}i + \#'s}{2 - 2}$$

$$f''(x) = \frac{2x(x^{2}) - (x^{2} - 4)(2x)}{x^{4}} = \frac{8x}{x^{4}}$$

$$f''(x) = \frac{8(x^{2})}{x^{4}} \rightarrow pos. \qquad x = 2 \text{ min}$$

$$f''(-x) = \frac{8(x^{2})}{(-x^{2})^{4}} \rightarrow pos. \qquad x = 2 \text{ min}$$

$$f'''(-x) = \frac{8(x^{2})}{(-x^{2})^{4}} \rightarrow pos. \qquad x = 2 \text{ min}$$

$$f'(x) = (x^{2}+1)^{\frac{2}{3}}$$

$$f'(x) = \frac{3}{3}(x^{2}+1)^{-\frac{1}{3}}(2x) = \frac{4x}{3}(x^{2}+1)^{\frac{1}{3}} = \frac{4x}{3(x^{2}+1)^{\frac{1}{3}}}$$

$$f''(x) = \frac{4}{3}(x^{2}+1)^{\frac{1}{3}} + \frac{4x}{3}(-\frac{1}{3})(x^{2}+1)^{-\frac{1}{3}}(2x)$$

$$f''(x) = \frac{1}{3(x^{2}+1)} + \frac{4}{3(x^{2}+1)^{\frac{1}{3}}} + \frac{4}{3(x^{2}+1)^{\frac{1}{3}}} = \frac{4x}{3(x^{2}+1)^{\frac{1}{3}}}$$

$$f''(x) = \frac{1}{3(x^{2}+1)^{\frac{1}{3}}} + \frac{4}{3(x^{2}+1)^{\frac{1}{3}}} = \frac{4x}{9(x^{2}+1)^{\frac{1}{3}}} \Rightarrow always$$

$$f''(x) = \frac{1}{3(x^{2}+1)^{\frac{1}{3}}} \Rightarrow always$$

February 05 2013 1st.gwb - 2/2 - Tue Feb 05 2013 08:30:27

